ADDITIONAL PROBLEMS IN FOR CHAPTERS 13A & 13B
Problem #1.  You have received the following Variance Analysis report for the month of April:

Variance Report for the Month of April





Budget 
Actual
Variance
Direct Labor Wages

$192,500
$224,000
($31,500)
Direct Materials


$160,000
$182,400
($22,400)
You have found the following budgeting information from your Manager:





Budgeted Rate
Budgeted Volume
Direct Labor

$7.00 per hour
27,500 hours

Direct Material

$4.00 per piece
40,000 pieces


a). Calculate the Rate Variance, Efficiency Variance and Total Variance for Labor for the month of April.  Identify if the variances are Favorable or Unfavorable.  What may be some reasons for the variances? Draw a graph describing the Variance Analysis for this problem.
From Accounting you also found out that 28,000 hours were actually used (and you actually paid $8.00 per hour for the reported total of $224,000).
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b. Calculate the Price Variance, Quantity Variance and Total Variance for Materials for the month of April.  Identify if the variances are Favorable or Unfavorable.  What may be some reasons for the variances? Draw a graph describing the Variance Analysis for this problem.
From Accounting you also found out that 48,000 pieces were actually used (and you actually paid $3.80 per piece for the reported total of $182,400).
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Problem #2.  You have received the following Overhead Variance Report for April.  Your company uses Full-absorption costing for Overhead.

Variance Report for the Month of April





Allocated OH 
Actual OH
Variance
Overhead



$66,000

$57,500
$8,500
You have found the following budgeting information from your Manager:







Budgeted Rate
Budgeted Volume
Fixed Overhead



$36,000

n/a
Variable Overhead


$2.00 / DL-hr.
9,000 DL-hr.
Total Overhead Allocation Rate
$6.00 / DL-hr.
9,000 DL-hr.
From Accounting you also found out that 11,000 DL-hrs.were actually used (and you actually allocated $6.00 per piece for the reported total of $66,000).

a). Calculate the Spending Variance, Volume Variance and Total Variance for Overhead for the month of April.  Identify if the variances are Favorable or Unfavorable.  What may be some reasons for the variances?  Draw a graph describing the Variance Analysis for this problem.
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